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X (interval)

a<b&ds.
FX[E (open intervals)

(a,b) :={x € R; a < x < b}
(a,400) ={x € R; a < x}
(—oo,b) ={x € R; x < b}

FAX A (closed intervals)

[a,b] := {z € R; a <z < b}
[a, +00) := {z € R; a < 2}
(—00,b] := {z € R; @ < b}

FE [a,b) :={x €R; a <z < b}
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XY zERELEYT. X DHY ANDEH
f: X—>Y

EIREREDz e X ICHLTY DER f(x) €Y 2L 1EEET S
ETY. ZORRTX & fOERSE, Y = f OfElg () EHFUXT.

BEX EZDEHDEES A BrHdELET. CZDEE=EES

A\B:={z € A; = ¢ B}
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a<c<b&lLZT. (a,b)\{c} = (a,c)U(c,b) ITEFBELZEXT. B

f: (a,b)\{c} >R _/—\/%}_
IR LT ’ ‘

f@t) - A (t— 0
=4
8 {t,} DEMG
a<t,<b,t,F#c, t, >c (n— 400)
Y AT
ftn) > A (n — 400)

FE K a<t,<b, th #cld f(t,) "EREINZEDTY.
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B8 f (z) :=

(x£20)ICLTa#0,z#0,a T2

A(a, f(a)), P(z,f(x))
NEDIEBRAP DEEEEZ X7 :

1_1
F(x):=%
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(@ # a,0)
r—a
ZhEE

F(x) — —a12 (x — a)
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%1 (2)

Tn #0, x, # a, x, > a(#0) (n — 4+00)
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= —— . — ——r—=—— (n— 40)
a x, a a a?
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f:(a,b)\{c} =R, g: (a;b)\{c} =R

IKHLTe - cDEE
f(x) > A, g(z)— B
ELES. ZoEx
f(x)£g(x) > AL B
f(x)-g(x) - A-B
g(x) #0 (z € (a,b),z # c), B#0RBLE

fl@) A
g(w)_)B
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(I ZEEBAL & 5. {xp} A
a<xp,<b, xFc xp,—cC
Eiwmlcg e LEY. IDEE
f(xn) > A, g(xn,) &> B

> T
f(zn) - g(xzn) > A-B

[an%a,bn%ﬁ(n—)—}—oo) 25 apb, — af ]
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f:(a,0)\{c} =R, g: (a,b)\{c} =R
h: (a,b)\{c} >R
HDARER
f(xz) <g(x) < h(x) (x€(a,b)\{c})

Hil-dELET. TDEE

f(x) > A, h(z) > A (x — ¢

=
g(z) > A (z—c¢)
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5 {xn} B
a<xyp<b, xpF#c, x, —>c(n— +00)
Eigl-dELET. CDEZ
f(xn) = A, h(zp,) > A (n — 4+00)

AR LET.
f(xn) < g(zn) < h(zn)
MEIEEHRDBDOEENERT

g(xzn) > A
HBRREWET.
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a>0R5E
vV = +Va (x— a)

z,a >0 xz#a&lLFET.

—a
Ve vas \/_+\/_
DOEIDIEIE%E & 2 &
—a| _ |z—ad
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Vo= Vel = f+f va
i | | | |
r—a r—a
- +va < vz < NG + Va
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[ r—a =|lr—al—0 (1)
INIERDEDHHRNVET.

( h, -0 (n — 4o00) = |hy| — 0 (n — 400) ]
EFEDe >0ICHLTES NHIHFEELT

—e<h,<e (n>N)

AN
—e <0< |hy| <e (n>N)
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